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QUESTION 1

A group of users on the same floor of a campus residence experience connectivity problems continuously throughout
the morning. The administrator suspects that it is a L1 problem with physical interference.

What can the administrator do to find the cause of this problem?

A. Access a controller\\'s spectrum analysis data directly from Airwave with Quick Links.

B. Access RAPIDS data from Airwave\\'s RAPIDS section.

C. Access RAPIDS data from AirWave\\'s dashboards, under Home.

D. Access a controller\\'s spectrum analysis data from Airwave\\'s dashboards, under Home.

Correct Answer: D

QUESTION 2

An administrator troubleshoots a roaming problem where a user loses connectivity to the network during the roaming
process. To help troubleshooting this problem, which device or devices in a wireless network initiates the roaming
process?

A. Both the client and the controller

B. The AP

C. The Client

D. The Controller

Correct Answer: B

QUESTION 3

An AP connects to a controller. Then, the AP loses power and reboots.

Which parameters will the AP remember and use from its initial connection? (Select two.)
A. AP group

B. Server IP

C. AP IP address and subnet mask

D. Mobility Master IP

E. AirWave server name

Correct Answer: AC
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QUESTION 4

An administrator wants to dynamically upgrade AppRF on Aruba Mobility Controllers (MC) in a cluster. The
administrator does not want to reboot the system at the time of the upgrade.

What should the administrator use for this upgrade?
A. Aruba image

B. Upgrade Profiles

C. Loadable Service Module (LSM)

D. Cluster Upgrade Manager

Correct Answer: A

QUESTION 5

Refer to the exhibit.

Last synchronization time: Thu Apr 13 07:42:48 2017
To Master Switch at 10.2534.10.101: succeeded

WM Database backup file size: 39121 bytes

Local User Database backup file size: 29694 bytes
Global AP Database backup file size: 13375 bvtes
IAP Database backup file size: 3730 bytes

Airgroup Database backup file size: 3052 bytes
License Database backup file size: 3358 bytes

CPSec Database backup file size: 3224 bytes
Bocmgr Database backup file size: 6016 bytes

Synchronization took 1 second

1 synchronization attempted

0 synchromization have failed

Periodic synchronization 1s enabled and runs every 60 minutes
Svnchromzation doesn’t include Captive Portal Custom data

Asrmatch database gets synchromized periodically. Last synchronization time:
2017-04-13 07:22:2019:20:24

What can be determined from the command output shown in the exhibit?

A. The synchronized data is protected by VRRP.
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B. The command was executed on the standby Mobility Master (MM).
C. The synchronization period is at its default value.
D. The other Mobility Master (MM) is the active license server.

Correct Answer: D
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